Equal 9 step grey scaling betweeb* gan=24 & L* 9aw=100.0,Yyret=2, normalisation white W

L*0anF24.7,L%0a=62.3,L* 0aw=100.0,Yoan=4-0, Yoa=33.7, Y0aw=100.0,Coav=Yoaw: Yoan=25.0
L*taN=29.2,L*1a=63.4,L*taw=100.0,Y;an=5.9, %ta=35.0, Ytaw=100.0,Cray=Ytaw: Ytan=17.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 BL* min] / [AL* max], L* TusrGB,w = 100 [Y/Y,]YIN(10) with Y >= 0,39 = 100/255Y,=100

g%= 99, g%= 99 9%= 89, g%= 85 g’%= 87, g%5= 83
L* TuBsrGB,w intended output real output linearized output
n0.i L*0a L*Or YOa YOr : L*a Al*a L*r Yta (L*r) Y112 *a Al*a
100+ ()9 1000 10 1000 1.0} 1000 1.0 1000 1.0 100.0
: 9.2 8.3
8 90.6 0.875 79.6 0.788 90.8 0.87 80.0  0.883 91.7
; . 8.4
7 812 075 619 0.603 816 0.74 626  0.764 83.3
75+ 9.1 8.5
6 718 0.625 46.6 0.443 725 0.611 47.6  0.644 74.8
: 9.1 8.6
@5 623 05 337 0309 634 0.483 350 0522 66.1
: 9.0 8.8
@+ 529 0375 231 0199 544 0.356 246  0.397 57.3
50 ; 8.8 9.0
@: 45 025 147 0112456 0232 164 0271 48.4
: 8.5 9.2
@2 341 0125 84 0046371 0111 102  0.141 39.2
: 7.9 10.0
25+ @1 247 00 40 00 ;292 00 59 0.0 29.2
o~ 3 YoartY,
AL*0;=9.4 (=1,2...8) i normalisation: Yiajyw=Yoaw2a_oref
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